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CHAPTER 3

Use these symbols to diagram electric circuits.

Electric No electric
Conductor connection connection
VAN Ground Battery
Resistor (fixed) J_
— = —I|—
Switch —
VAN
Potentiometer
S\ (variable resistor)
Fuse
21118
Inductor
|
Capacitor Lamp DC generator Voltmeter Ammeter
1-.8........... Is the direction in which Aan gall il 48 & i Al o) 2 Ll
positive test charge moves? REPEEY
A- Conventional current ~aa¥) Ll B- Electric field b es) Jsll)
C- Electron flow Gl 5 STV 3y D-Work Jadll
2-coeeeeeeeeeun-....is The direction of the current a
frombtoa .
¥
____________ rasa Gl b e il alai AR % hm
|
b
A- Conventional current ~Maa¥! Ll B- Electric field 2L 8 Judl)
C- Electron flow il g STV 3 D-Work Jadll
050982 9681 M sl Jiba 2




3-Which of the following is not a valid unit for the measurement of the electric power?

Al 4g<1) 380 (B Caa g G Cod b Laa

Watt

Joul/second | PO LT PEN
Joul.second LG s
Ampere.volt Tl

4-Which of the following equations is a correct formula for electric charge q
q Al Aaill daas A8 ) e )

q=1It
_q=1Ijt
q=1t/I
qg=1I*t

5-Which of the following is equal to the
amount of energy that a (1000W) device
transforms in (3600s)?

4535 jlga laoay i) A8Uall jlake g gy oS
(1000W)
(3600s) S

1J

1W.s

1N.m

1KWh

6- What 1s the measurement unit that energy

u.ulviﬂ FRBA L.LﬂSJ.;:l L&Aw ‘r‘»_“ L}uLqu'I BJ:;J L

companies use to measure electrical energy Al oSl AaUal) Sl
consumption?
Ampere i Volt g
Ohm a3 KWh 4slu bl g sl

050982 9681 W sl Jila




7-A car battery causes a current of 2.0 A claas (I diay Wil e S 1 L3l 2y 5y 35 5
through a lamp and produces 12 V across it. Leaasii il 5 0l Lae SN 8 LS o e ey AL jeS
What 1s the power used by the lamp? frluadl
L A
tf o |
[t
24W 0.17W
6.0W 6.0 KWh
8-According to this figure Jall e sldie YL
Find the thermal energy produced from the 30 2 gl Lty Al & ) all A8kl Hlasa s
43183

heater 1n 30 min?

‘()2—20 v baatar ‘(jzu v TRV IATE
1100 W 1100 W

2.4x10%J 2.0x10°J

33X10°J 33X10%J

9-What is the current through a 75 W light
bulb that is connected to a 125 V outlet?

Ll 5 75 438 rluaa el AU S il dad W
$Cd 2 125 o Jrne g dsiasess

0.6 A

9x10° A

03A

6x10° A

050982 9681 W sl Jila




10-Which of the following convert AL S ALk L) ASilaal) AUl Jgay A g
mechanical energy to electrical energy?
Battery 4 Uil Motor b Sl &l sl
Electric Generator b Sl Al sl Voltmeter _iwdl sl
11-Which of the following control the B A lall Ll Bud A aSalill addiiey AW
current passing through electric circuit? aslbigs
Potentiometer 3 el 4 slaall Motor b Sl &l jadll
Electric Generator b xSl l sall Capacitor &)l
12-According to the circuit which through current O g g Al B I e il
passes. Which of the following is correct? fraa AUl e gl A s
X Y
a Voltmeter Voltmeter
b Ammeter Ammeter
- >
C Ammeter Voltmeter — $
+
d Voltmeter Ammeter @)
Lt
13-A light bulb has a resistor of 100 Q is QLS yluass Jgso 90 100 Q 4laglia il gS rluas
connected to 220 V power supply. What is f b pluaall dpayy M) LAY 305 L 220 V

the current the light bulb draws?

2.2A 100A
0.5A 220 A

050982 9681 <« 5 sl Jola 5




14-What is the effect on the amount of
current in the circuit shown when reducing
the amount of electrical resistance to
become half of its original value.

die daud gal) 30 B LAl aka o 5l ga L
Ao S L cial ruad duily <1 daglial) jiaia JolES

-

The current halved

dale S Le cial Ll j)aie muas

Stay the same

Ll A

The current doubled

ﬁdﬁouhqu‘)gﬂi‘)iiﬁw

The current quadrable

e (S L JUal Aay i L) ) die gy

15-Refer to the figure to find the reading of the

Ammeter and Voltmeter?

Saailailly ¥l be 8 aa Sl e eVl

Ammeter Voltmeter
@

a 27 A 15A .

|
b 1.5A 27V = 27v 180 % <D
c 18 A 1.5V

___.f
d 1.5A 15V
16.......... Its resistance does not change when Gole (gdaall agall (38 il RS Y Lgtagla,, ...

the potential difference across it changes

Ohmic resistor 4 4agia

Variable resistor 5_sia 4. glia

Non-Ohmic resistor 4wl p& daglia

Transistor g3 3

050982 9681 W sl Jila




17-Which of the following wires would have
the least resistance, Assuming that all of the
wires have the same cross-sectional area?

e ol il 81 A glia g (0 g AL DY ()
o o) i) Aabuaa (i Lt LI

an iron wire 10 cm in length

10 cm A sh Laad) G dlla

an iron wire 5 cm in length

5 cm 4sh Laad) (e dla

a copper wire 10 cm in length

10 cm b (uall) G i

a copper wire 5 cm in length

5 cm Adgh guladll (el

18-Which circuit represents the correct connection for the Ammeter and Voltmeter

e aa gill g _fiadl rasadl) Jaud il (25 Ay S 5413 51

— R oD

A
C (A
— =) D

(1) (3)
N & e 1A
— ) — F‘$ D
R
e N\
L2 (4)
1 2 3 a

19-The voltmeter should be connected in .....

Parallel Jjlsdl

Any connection is correct fmasa (& Jua s L,si

Series s

Depends on the magnitude of current
L) dad o U adiay

050982 9681 W sl Jila




20-A heater has a resistance of 10.0 . It
operates on 120.0 V.

What thermal energy is supplied by the
heater in 10.0 s

120.0 V 33 Jai 9 10.0 Q 4 glda Gld
10.0 s B Gl Lgatsy Al Ay ) ) 48Ul La

i

‘C) 120.0V 10.0 0 g

1.44J

14.4)

1.44KW

14.4KJ

21-A 100.0-W light bulb 1s 22 percent
efficient. This means that 22 percent of the
electric energy 1s converted to light energy.
How many joules does the light bulb convert
mto light each minute 1t 1s 1n operation?

ALl 822 3.8 Jaay 100.0-W 43 )38 Flaas

A eI ddUall (g 0lall 3 22 Josad Al 4l ey s
duclad) 4k )

IS Adclad) dalh ) Fluadll sl oy J e oS
e Fluaal)l diadi 2y db8)

1.3x10°J

6.0x10° J

4.7x103 J

7.4x10° J

22-What is the resistance of a circuit
connected to a 14.0-V battery if it supplies

Raga (38 4 Uy aa Al e ga il 1S 5 il Ao glia La
2.70x102 J W ke d8Uay 5 5080 2935 Al 9 14.0-V

2.70x10* J of energy in 20.0 s? 20.0 s Sa
7.56 Q 14.5 Q
104 Q 18.9 Q
050982 9681 <« 5 sl Jola 8




23-When power companies send electricity
to consumers, they....

@

Q- \,
Q\\ ,/ v
\rM

Oillgienal) (Sl sl @S ) 50l cls 3 g5 Ladie
ceen W 2L Sl

increase the voltage in order to send energy
slower

08 d8h 0y 22l 65 23

mcrease the current in order to send energy at
a lower voltage.

J8) 2¢> xic a3 Jl LY il 23

decrease the current in order to reduce the
amount of energy lost.

Aadlall dsl)) aneS (el Jlas

decrease the voltage in order to reduce the
amount of power in the lines.

Jill Tahs a5 sl Julii] sl Jlis

24-A 1.8KW electric space heater. It is

bugial) b alads oty g 1 SKW 43 il 8 Gliu

operated, on the average, for 5.0 h each day. a5 JS5.0 h 3l
At AED 0.12 per kWh, how much does 1t cost KWh JS Laa 52 0.12 Jimas
to operate the heater for 30 days? Tlags 30 daal Glad) Jauda AR AL oS
/@‘?‘.“}\.
[+f ent
gy
N
1.08 AED 32.4 AED
8.01 AED 3.24 AED
050 982 9681 < sl ila 9




